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Neme:

: Directions: Fill in the table or write a let

! statement for each word problem. Then write the

. equation that can be used to solve for each problem.
1. Tyliah has $2.05 in her purse made up of nickels, dimes, and

quarters. There are two times as many nickels than quarters, and
four more dimes than nickels. How many coins of each kind are

there?

Value of each

f
Type. ° coin # of coins total
coin In cents
Nickels == 5 e i

Dimes /{y C“;/,',./.‘,/ i (‘f/’ — //y “‘,,."—-,7«3 vV .//

3 L — 5
Quarters| _2 “ ?/ - 4 2%
Equation: AN ) AL QDX 7t ) £25) = 220

2. Find two consecutive even integers such that 4 times the lesser is
28 more than the greater.

Let 1% CEl = _ A

ricEl= ¥ A2
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Equation: 5/7/ ‘V/'//Cv) ,) e F e




3. Livy is 6 years older than Brooke. Six years ago, Livy was twice as old
as Brooke. How old is each now?

Present Age /ﬁ//ﬁ[ "é[
, STTTITT
Y Xre | grii =%
Brooke ¥ ¥~

- y/,n,y./; ﬂ/%
2lv-1) =X '

Equation:

Foind . .
4. The sum of the ages of lan and Gavin is 32. In two years lan will be
three times as old as Gavin. How old are they now?

Present Age

s
T

lan o/ X

can yrawg 20—y | 22 yea=lzy-x
3/ 00%7/1} A
Equation: 2 /324~ )/) o B

5. Find three consecutive integers such that the sum of twice the
smallest and 3 times the largest is 126.

Let1*Cl=__ ¥
2MCla_F#/
3NCIlm_Y FP

Equation: al X £ //Y"‘ch ) =/2 Q

6. The length of a rectangle is 5 less than twice the width. If the
length is increased by 7 in and the width is decrease by 2 in, the
perimeter will be 54 in. Find the dimensions of the original rectangle.

Let: 2X -5 J)’r’ﬁvf?’) = ot Y e
v/ e x v 9 e X -
/ /50

Eeuations__ 20 & = 2/ ay£3) +u2(¥=3)

7. The larger of two numbers is 5 less than twice the smaller. Their
sum is 43. Find the numbers.

Let smaller#=__ 2~

larger # = 2 " — 5

¥ oy s )23

Equation:

8. A collection of nickels and quarters amounts to $2.60. There are
16 coins in all. How many of each coin are there?

Value of each
coin # of coins total

In cents

Nickels ;’ ?/
Quarters ojj o= :9/5”@—.}/)

Type of
coin

Equation: 6‘/}/{},«27)?/ (¥ ’/) P g,

L7 E ok
Homework: Solue the eauctions on peges 66 ¢ 67

“Our greatest weakness lies in giving up. The most certain way to
succeed is aways o try just one more time." Thomas A. Edison
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